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V. EVIRERR

(1) ZallzRK (QE27EE)
( /mL)

¥ = L] 208] 120 52 521 406 58 40 20 28] 140 26 58

Achnanthes spp. 2

Amphora  spp. 18

Asterionella spp. 4 2 2

Cocconeis spp. 2 2 16 72 6 6 4

)
=
=)
N>
~
~

Cyclotella spp. 10 28 6 14 4

Cymbella spp. 16 2 6 56 4 4 18 2

Diatoma spp. 2 2

Diploneis spp.

30 2 8

Fragilaria spp.

28 2 10

Gomphonema — spp.

Melosira varians

=ILSIIESES
~

D

106 36 8 90 24 26 14 24 86 22 50

Navicula spp.

Nitzschia acicularis 4

Nitzschia spp. 2

Pinnularia spp. 66 10 42 12

Rhoicosphenia spp. 16 6 26

Synedra spp. 2 26

= L] 0 0 26 2 0 12 2 0 4 0 2 4

Ankistrodesmus spp. 4

Chlamydomonas spp. 6 2

Closterium spp. 8

Gloeocystis spp. 2

Pandorina spp. 12

Scenedesmus  spp. 4 2 2

Sphaerocystis spp. 2 2

Tetraspora spp. 2 4

) JrER 0 0

| Cryptomonas _spp.

(=2 =] K=2]
=2 LIS

% £ = 2l o

& L7 # £ 210 120 84 56 406 70 42 20 32 140 30 62

(2) 23l

LERIK QERR27TEE)
( mL)

E O FE & 4 of ol of of of of of of of of o

|Microcystis spp.

~

¥ E # 5 1 1 0 5 10 5 1 3 3 9 2

Asterionella spp. 1

Cocconels spp. 1 1

Cyclotella spp. 1 1

Cymbella spp. 1 1

Gomphonema  spp. 3

Melosira varians 1

Navicula spp. 1 4 10 1 1 3 2 4 2

Nitzschia spp. 1

Pinnularia spp. 1

Rhoicosphenia spp. 2

Synedra spp. 2

S Y| i El 9 1 1 0 5 10 5 1 3 3 9 2
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